Van Wingerden Greenhouses Availability	Week 30	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

Product Name	Minimum Order is \$700 or \$100 shipping charge							
Herbs & Veggles	Product Name	Order Quantity		Ea Per				
10" Tomato Hanging Basket	Herhs & Veggies		туре	Unit	Price	Price	Eaches	Price
4" Herb - Mint Spearmint flat 10 \$1.75 \$17.50 0 \$0.00 4" Strawberry - Montana flat 10 \$0.75 \$7.50 0 \$0.00 5" Vegetables Tomato Beefsteak flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Early Girl flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato La Roma flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Annuals Myssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat <			single	1	\$7.00	\$7.00	0	\$0.00
4" Strawberry - Montana flat 10 \$0.75 \$7.50 0 \$0.00 5" Vegetables Peppers Habanero flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Beefsteak flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato La Roma flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato La Roma flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 6 \$4.00 \$2.40 0 \$0.00 Jumbo Pack Nanuals Alyssum White flat 6 \$4.00 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Natural Miller flat 6 \$2.52 \$15.12 0 \$0.00<			_		•	-		
5" Vegetables Peppers Habanero filat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Beefsteak flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Early Girl flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Assorted flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0	•				•	-		•
5" Vegetables Tomato Beefsteak filat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Early Girl filat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold filat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold filat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary filat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Sweet 100 filat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Vegetable Tomato Sweet 100 filat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Alyssum White filat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia Pomato Sweet 100 filat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf	•					-		•
5" Vegetables Tomato Early Girl flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato La Roma flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Patunia Susty Miller flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Detunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - P						-		•
S" Vegetables Tomato La Roma flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Sasorted flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Desty Miller flat 6	_					-		
5" Vegetables Tomato Sungold flat 8 \$2.35 \$18.80 0 \$0.00 5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Mix flat	-					-		•
5" Vegetables Tomato Sweet 100 flat 8 \$2.35 \$18.80 0 \$0.00 6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Assorted flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0	_					-		•
6" Herb - Crisp Rosemary flat 6 \$4.00 \$24.00 0 \$0.00 Jumbo Pack Vegetable Tomato Early Girl flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Vegetable Tomato Sweet 100 flat 6 \$2.52 \$15.12 0 \$0.00 Spring Bedding Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Detunia - Mik flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat	_					-		•
Jumbo Pack Vegetable Tomato Early Girl flat	_					-		
Spring Bedding Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Dusty Miller flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Flink Pack flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Flink Pack flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Flink Pack flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia - Flink Pack flat 10 \$1.60 \$16.00 0 \$0.00 Jumbo Pack Annuals Petunia						-		•
Spring Bedding Jumbo Pack Annuals Alyssum White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Assorted flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Bronze Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Begonia Green Leaf flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Dusty Miller flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Dusty Miller flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Detunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Detunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Petunia - Mix flat 10 \$1.60 \$16.00 0	,				•	-		
Jumbo Pack Annuals Alyssum White	Jumbo Fuck Vegetable Tolliato Sweet 100]	-	7	7	-	70.00
Jumbo Pack Annuals Assorted	Spring Bedding		_					
Jumbo Pack Annuals Begonia Bronze Leaf flat	Jumbo Pack Annuals Alyssum White		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Begonia Green Leaf flat	Jumbo Pack Annuals Assorted		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Dusty Miller flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals Flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy <td>Jumbo Pack Annuals Begonia Bronze Leaf</td> <td></td> <td>flat</td> <td>6</td> <td>\$2.52</td> <td>\$15.12</td> <td>0</td> <td>\$0.00</td>	Jumbo Pack Annuals Begonia Bronze Leaf		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - Mix flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals Setunia - White flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium	Jumbo Pack Annuals Begonia Green Leaf		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - Pink flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals Petunia - White flat 1 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Diracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium	Jumbo Pack Annuals Dusty Miller		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - Pink Pearl flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals Petunia - White flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals	Jumbo Pack Annuals Petunia - Mix		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - Purple flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals Flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink <td>Jumbo Pack Annuals Petunia - Pink</td> <td></td> <td>flat</td> <td>6</td> <td>\$2.52</td> <td>\$15.12</td> <td>0</td> <td>\$0.00</td>	Jumbo Pack Annuals Petunia - Pink		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - Red flat 6 \$2.52 \$15.12 0 \$0.00 Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 <	Jumbo Pack Annuals Petunia - Pink Pearl		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia - White flat 6 \$2.52 \$15.12 0 \$0.00 4" Premium Annuals 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00 <td>Jumbo Pack Annuals Petunia - Purple</td> <td></td> <td>flat</td> <td>6</td> <td>\$2.52</td> <td>\$15.12</td> <td>0</td> <td>\$0.00</td>	Jumbo Pack Annuals Petunia - Purple		flat	6	\$2.52	\$15.12	0	\$0.00
4" Premium Annuals 4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	Jumbo Pack Annuals Petunia - Red		flat	6	\$2.52	\$15.12	0	\$0.00
4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	Jumbo Pack Annuals Petunia - White		flat	6	\$2.52	\$15.12	0	\$0.00
4" Premium Annuals Begonia Non-Stop flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	4" Premium Annuals							
4" Premium Annuals Dichondra flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00			flat	10	\$1.60	\$16.00	0	\$0.00
4" Premium Annuals Dracaena Spike flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00			flat	10	\$1.60	\$16.00	0	\$0.00
4" Premium Annuals Euphorbia flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00			flat		•	-		
4" Premium Annuals Gerbera Daisy flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	·					-	0	
4" Premium Annuals Ipomoea Lime flat 10 \$1.60 \$16.00 0 \$0.00 4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	•					-		
4" Premium Annuals Verbena Trailing Assorted flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	•				•	-		•
4" Zonal Geranium - Hot Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	•	-d				-		
4" Zonal Geranium - Light Pink flat 10 \$1.60 \$16.00 0 \$0.00 4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00	_				•	-	0	
4" Zonal Geranium - Pink Flare flat 10 \$1.60 \$16.00 0 \$0.00					•	-		
	-					-		•
						-		

Van Wingerden Greenhouses Availability	Week 30		Contact N	ame:			
	FAX: 360-366-391	1	Customer				
	PHONE: 360-366-3	3906	Requested	Ship Day:			
Minimum Order is \$700 or \$100 shipping ch	arge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Zonal Geranium - Violet		flat	10	\$1.60	\$16.00	0	\$0.00
Premium Gallon Items							
Premium Gallon Thornless Blackberry		flat	6	\$5.40	\$32.40	0	\$0.00
Perennials Assorted							
5.5" Perennials Armeria Ballerina		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Carex Colorgrass Red Rooste	er	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Carex Evercolor Eversheen		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Coreopsis Hardy Jewel Citrir	ne	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Cymbopogon Citratus Lemo	ngrass	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Delphinium Guardian		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Dennstaedtia punctilobula -	Hay Scented Fern	flat	8	\$2.50	\$20.00	0	\$0.00

flat

flat flat

flat

flat

flat

flat

flat

5.5" Perennials Echinacea Red

5.5" Perennials Echinacea White

5.5" Perennials Echinacea Yellow

5.5" Perennials Grass Festuca Festina

5.5" Perennials Grass Juncus Spiralis

5.5" Perennials Heuchera Bilberry

5.5" Perennials Isolepis Live Wire

5.5" Perennials Lupine Assorted

5.5" Perennials Milium effesum

5.5" Perennials Rudbeckia Viette

5.5" Perennials Hardy Maidenhair Fern

5.5" Perennials Heuchera Palace Purple

5.5" Perennials Japanese Painted Fern

5.5" Perennials Juncus Colorgrass Blue Arrows

5.5" Perennials Lavandula Spanish Assorted

5.5" Perennials Lavandula Angustifolia Blue Spear

5.5" Perennials Leucanthemum Ooh La LaGrande

5.5" Perennials Monarda Balmy Lilac - Bee Balm

5.5" Perennials Penstemon Twizzle Mix

5.5" Perennials Sedum Munstead Dark Red

5.5" Perennials Veronica Ronica Assorted

5.5" Perennials Gaura Pink

5.5" Perennials Hosta

5.5" Perennials Gaura White

5.5" Perennials Echinacea Sombrero

5.5" Perennials Echinacea Sunseekers Orange

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

8

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$2.50

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

\$20.00

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

Van Wingerden Greenhouses Availability	Week 30 FAX: 360-366-391	1	Contact Na Customer:				
	PHONE: 360-366-3			Ship Day:			
Minimum Order is \$700 or \$100 shipping ch		3300	Nequestet	i Silip Day.			
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Perennial Pennisetum Rubrum		flat	6	\$5.40	\$32.40	0	\$0.00
6.5" Perennial Shrubs and Trees - Boxwood	(JRT Nurseries Inc)	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Euonymus	5	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Juniper D	ream Joy	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Picea Glau	ıca Conica	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Thuja Jane	ed Gold	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Thuja occ	dentalis Smaragd	flat	6	\$9.25	\$55.50	0	\$0.00
Gallon Perennial Crocosmia		flat	6	\$5.40	\$32.40	0	\$0.00
6.5 Premium Annual							
6.5" Premium Annual Ageratum Monarch N	1agic	flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Angelonia Angelflare	-	flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Calibrachoa Assorted		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Cyperus Cleopatra		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Dipladenia Bluephori	a .	flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Helichrysum Licorice		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Lantana Assorted		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Lantana Passion Fruit		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Petunia Assorted		flat	6	\$3.00	\$18.00	0	\$0.00
6.5" Premium Annual Petunia Dekko Maxx	Pink	flat	6	\$3.00	\$18.00	0	\$0.00
6" Canna Lily-Assorted		flat	6	\$3.00	\$18.00	0	\$0.00
Cacti and Succulents in Ceramics (Concre	ete pots also availa	ble) - Ind	loor & Outo	door			
2.5" Cactus - Assorted in Ceramic		flat	24	\$4.00	\$96.00	0	\$0.00
8" Ceramic Cactus Bowl		single	1	\$19.50	\$19.50	0	\$0.00
8" Ceramic Succulent Bowl		single	1	\$19.50	\$19.50	0	\$0.00
Hanging Baskets & Planters							
10" Mandevilla Vine Planter		single	1	\$15.50	\$15.50	0	\$0.00
10" Mandevilla Vine Planter - Fuchsia		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Pink		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Red		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - White		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Yellow		single	1	\$7.00	\$7.00	0	\$0.00
10" RWB Hanging Basket		single	1	\$7.00	\$7.00	0	\$0.00
12" Begonia GROOVY Hanging Basket		single	1	\$12.00	\$12.00	0	\$0.00
12" Begonia Non-Stop Hanging Basket		single	1	\$12.00	\$12.00	0	\$0.00
12" Calliope Geranium Basket - Cascade Vic	let	single	1	\$12.00	\$12.00	0	\$0.00
12" Dahlia Assorted		single	1	\$12.00	\$12.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 30		Contact N	ame:			
	FAX: 360-366-3913	1	Customer:				
	PHONE: 360-366-3	3906	Requested	Ship Day:			
Minimum Order is \$700 or \$100 shipping chair	ge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
12" Dragon Wing Begonia HB - Green Leaf		single	1	\$12.00	\$12.00	0	\$0.00
12" Premium Annual Hanging Basket - Lantan	a Mix	single	1	\$12.00	\$12.00	0	\$0.00
12" Premium Annual Hibiscus		single	1	\$12.00	\$12.00	0	\$0.00
12" Premium Annual Planter		single	1	\$12.00	\$12.00	0	\$0.00
12" Premium Planter - Osteospermum		single	1	\$12.00	\$12.00	0	\$0.00
12" Spring Annual Centerpiece		single	1	\$5.00	\$5.00	0	\$0.00
15" Premium Patio Planter		single	1	\$15.00	\$15.00	0	\$0.00
15" Tall Planter - Lantana Passion Fruit		single	1	\$15.00	\$15.00	0	\$0.00
16" Premium Planter		single	1	\$15.00	\$15.00	0	\$0.00
8" Premium Planter		single	1	\$5.00	\$5.00	0	\$0.00
Cacti and Succulents							
10" Succulent Bowl		single	1	\$17.00	\$17.00	0	\$0.00
2.5" Cactus - Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Cactus Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Succulent - Crassula Ovata		flat	32	\$2.95	\$94.40	0	\$0.00

Cacti and Succulents						
10" Succulent Bowl	single	1	\$17.00	\$17.00	0	\$0.00
2.5" Cactus - Assorted	flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Cactus Assorted 6 Pack	single	1	\$15.00	\$15.00	0	\$0.00
2.5" Succulent - Crassula Ovata	flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent - Gasteraloe Cosmo	flat	32	\$2.95	\$94.40	0	\$0.00
4" Succulent Crassula Ovata - Jade Plant	flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Succulent - Echeveria Coral Reef	flat	6	\$5.75	\$34.50	0	\$0.00
6.5" Succulent Crassula Ovata	flat	6	\$5.75	\$34.50	0	\$0.00
6" Cuddly Cactus	flat	6	\$10.00	\$60.00	0	\$0.00
Large Tropicals						
12" Tropical Anthurium	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Assorted	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Calathea Makoyana	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Cordyline Auntie Lou	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Cordyline Red Pepper	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Cordyline Red Sensation	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Lemon Lime	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Marginata	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Warneckii	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Burgundy	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Triangularis Variegated	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Joshua Tree Yucca	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Majesty Palm - Ravenea rivularis	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Mixed Planter	single	1	\$30.00	\$30.00	0	\$0.00
12" Tropical Monstera Deliciosa	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Philodendron Assorted on Moss Pole	single	1	\$22.10	\$22.10	0	\$0.00

Van Wingerden Greenhouses Availability	Week 30	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
12" Tropical Sansevieria Whale Fin		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Strelitzia White Bird of Paradise		single	1	\$22.10	\$22.10	0	\$0.00
8" Spathiphyllum Indoor		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Assorted		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Ficus elastica Burgundy		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Pachira - Money Tree Braided		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Philodendron Assorted		single	1	\$16.50	\$16.50	0	\$0.00
Tropical Ferns - Indoor							
12" Boston Fern Hanging Basket		single	1	\$16.00	\$16.00	0	\$0.00
2.5" Tropical Fern Assortment		flat	32	\$2.50	\$80.00	0	\$0.00
4" Tropical Fern - Asparagus		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Autumn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Blechnum Gibbum		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Blue Star		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Boston		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Button		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Cretan Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - East Indian Holly Fern		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Eyelash		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Fluffy Ruffles		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Heart		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Maidenhair		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Pteris Parkeri		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Sickle		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Silver Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Silver Lace Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Staghorn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Tricolor		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Tropical Fern - Cretan Brake		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Maidenhair		flat	6	\$6.00	\$36.00	0	\$0.00
8" Boston Fern Hanging Basket		single	1	\$10.15	\$10.15	0	\$0.00
Tropical Hanging Baskets							
4" Tropical Assorted Hanging Basket		flat	10	\$5.50	\$55.00	0	\$0.00
Tropicals - Collectors							
2.5" Tropical Philodendron Quad Color		single	1	\$7.50	\$7.50	0	\$0.00

Van Wingerden Greenhouses Availability	Week 30	Contact Name:	
	FAX: 360-366-3911	Customer:	

PHONE: 360-366-3906 Requested Ship Day:

Product Name	Order Quantity	Unit -	Ea Per	Each	Unit	Total	Total
2 Fll Transical Dhiladan duan Dina of Fina		Type	Unit 1	Price \$7.50	Price \$7.50	Eaches	Price \$0.00
2.5" Tropical Philodendron Ring of Fire		single	1		-	0	•
4" Tropical Anthurium Jenmanii		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Ficus Shivereana Moonshine		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Golden Zebra Fern		single · ·	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Homalomena Camouflage		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Billietiae		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Jose Buono		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Pink Princess		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Quad Color		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Ring of Fire		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron White Wizard		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Spathiphyllum Sensation Variegata		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Syngonium Milk Confetti		single	1	\$10.00	\$10.00	0	\$0.00
6.5" Tropical Anthurium Jenmanii		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Olea Europaea Olive Tree		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Atabapoense		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Ring of Fire		single	1	\$15.00	\$15.00	0	\$0.00
8" Tropical Collector Olea europaea Olive Tree	2	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Philodendron Jose Buone)	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Philodendron Ring of Fire	2	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Zamioculcus Zamifolia ZZ	. Plant	single	1	\$25.00	\$25.00	0	\$0.00
Translate Brownian							
Tropicals - Premium		-11	4	ć4F 00	Ć4F 00	0	¢0.00
2.5" Tropical Assortment 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Tropical Foliage Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
4" Tropical Aglaonema China Red		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Aglaonema Gold Powder		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Aglaonema Siam Aurora		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Alocasia Dragon Scale		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Lancifolia		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Orbifolia		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Roseopicta Illustris		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Vittata		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Club Moss Gold		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Club Moss Green		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Coffea Arabica		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ctenanthe Golden Mosaic		flat	10	\$4.30	\$43.00	0	\$0.00
Tropical elemantific dolucit iviosale			-0	ųo	ψ .5.00	3	φυ.συ

Van Wingerden Greenhou:	ıses Availabilitv
-------------------------	-------------------

Week 30

FAX: 360-366-3911

PHONE: 360-366-3906

Contact Name: Customer:

Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Tropical Dieffenbachia Green Magic		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus Elastica Burgundy		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus Elastica Ruby		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus Elastica Tineke		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus lyrata - Bambino		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Hypoestes - Polka Dot Plant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Santorini		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Birkin		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Gloriosum		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Prince of Orange		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Pilea Glauca Silver Sparkle		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Hahnii Emerald Star		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Hahnii Glimmering Sta	ır	flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Hahnii Tiger Star		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Robusta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium Starlite		flat	10	\$4.30	\$43.00	0	\$0.00
6.5" Anthurium Indoor Assorted		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Anthurium Indoor Pink		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Anthurium Indoor Red		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Tropical Alocasia Sarian		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Assortment		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Golden Mos	saic	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Setosa		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Freddie		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Maui Queen		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Roseopicta Medallion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Rufibarba		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Chlorophytum - Spider Plant		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dieffenbachia Tropic Marianne		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Audrey		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Burgundy		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Ruby		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Tineke		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus lyrata - Bambino		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Monstera Deliciosa Tauerii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Musa Dwarf Banana Plant		flat	6	\$7.00	\$42.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 30		Contact N				
	FAX: 360-366-3911		Customer:				
Minimum Orden is \$700 or \$100 shinning about	PHONE: 360-366-3906		Requested Ship Day:				
Minimum Order is \$700 or \$100 shipping char	rge	Unit	Ea Per	Each	Unit	Total	Total
Product Name	Order Quantity	Type	Unit	Price	Price	Eaches	Price
6.5" Tropical Philodendron Gloriosum		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Goeldii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Hope		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Imperial Green		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Imperial Red		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Prince of Orange		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Rudolph		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Sansevieria Zeylanica		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Strelitzia Bird of Paradise		flat	6	\$7.00	\$42.00	0	\$0.00
Tropicals - Rare							
12" Tropical Monstera Thai Constellation		single	1	\$60.00	\$60.00	0	\$0.00
12" Tropical Zamioculcus Zamifolia ZZ Plant		single	1	\$60.00	\$60.00	0	\$0.00
2.5" Tropical Alocasia Frydek Variegated		single	1	\$20.00	\$20.00	0	\$0.00
2.5" Tropical Monstera Deliciosa Thai Constel	lation	single	1	\$20.00	\$20.00	0	\$0.00
4" Tropical Alocasia Frydek Variegated		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Anthurium Warocqueanum		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Monstera Thai Constellation		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Philodendron Burle Marx Variegat	a	single	1	\$30.00	\$30.00	0	\$0.00
6.5" Tropical Monstera Thai Constellation		single	1	\$40.00	\$40.00	0	\$0.00
6.5" Tropical Philodendron Burle Marx Variego	ata	single	1	\$40.00	\$40.00	0	\$0.00
Tropicals with Upgrades - Indoor							
2.5" Tropical in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.00
4" Tropical - Assorted in Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
4" Tropical - Assorted in Ceramic with Pot Sta	nd	flat	8	\$8.30	\$66.40	0	\$0.00
4" Tropical Assorted in Rope Pot		case	12	\$6.30	\$75.60	0	\$0.00

flat

single

single

flat

single

single

6.5" Anthurium Indoor w/Ceramic6.5" Tropical Assorted in Ceramic

6.5" Tropical Foliage in Ceramic with Pot Stand

6.5" Tropical Assorted in Tin

8" Centerpiece Bowl - Tropical

Tropical Basket Centerpiece

3

1

1

3

1

1

\$12.90

\$10.50

\$10.50

\$13.00

\$19.50

\$18.00

\$38.70

\$10.50

\$10.50

\$39.00

\$19.50

\$18.00

0

0

0

0

0

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00